Two dice game Il

This task is about comparing theoretical with experimental outcomes.

How to do the task
When two dice are thrown the numbers on top are added together.

J -'J Example:2 + 3 = 5

a) i) Do an experiment: throw the dice 36 times to try and find out which sums are more likely
to come up.
Record your results in the table below. You may work in pairs for this part.

Sum of the two Tally
dice

ii) Complete the frequency table below based on your actual results above.

Sum of the two dice | 2 3 4 5 6 7 8 9 w1112

Actual frequency |



Answer the following questions by yourself.

The table below shows all the possible sums you can get when the numbers on the two dice are

added together.
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b) Using the information above, write in the table below how many times each sum occurs.
These give the expected frequency for each number between 2 and 12. Two of them have
been done for you (i.e., a sum of 2 occurs just 1 way and a sum of 11 occurs 2 ways).

Sum of the two dice ‘ 2 3 4 5 & 7 8 9 w11 12

Actual frequency ‘ 1 2

c) Comment on the overall similarities or differences between the actual frequencies from your
experiment in a), and the expected frequencies in the table in b) above.

d) Give two reasons why the actual frequencies in a) may be different from the expected

frequencies in b).
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